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QUESTION 1

Hosts and switches are connected to a FAS8040. Multiple FC-enabled SVMs have been created, and LUNs have been
mapped to multiple hosts. During failover testing, one of the hosts lost connectivity to its LUNSs.

What needs to be examined?

A. FAS8040 ALUA configuration
B. host multipath settings

C. xhost iSCSI timeout values
D. switch NPIV settings

Correct Answer: A

QUESTION 2

Microsoft ODX supports which scenario on clustered Data ONTAP 8.3?

A. moving a VHDX with both SMB 3.0 and SAN protocols as either source or destination

B. moving a VHDX from an SMB 3.0 source to an SMB 3.0 destination with no SAN support
C. moving a VHDX from a SAN LUN source to a SAN LUN destination with no SMB support
D. moving a VHDX with both SMB 2.1 and SAN protocols as either source or destination

Correct Answer: D

QUESTION 3

Which information-gathering command should you use to gather logs for troubleshooting switch information for your
Brocade switches?

A. cfgshow

B. fabricshow
C. configshow
D. supportsave

Correct Answer: B

QUESTION 4

Exhibit
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You have a 2-node data ONTAP 8.3 cluster.
Based on the exhibit, which change must be made to make svm1 conform to iSCSI best practices?

cl01::> net int show -vserver svml -data -protocol iscsi Logical Status Network Current Current Is Vserver Interface
Admin/Oper Address/Mask Node Port Home

svml up/up 10.204.34.25/24 cl01-01 aOa 434 true cl01::>iscsi show -vserver svml Vserver: svml Target Name:
ign.1992 08.com.netapp: sn.ca5eaa069c211 Target Alias: svm1 Administrative Status: up

A. The iSCSI LIFs must be moved to a VLAN higher than 1024.

B. An iSCSI LIF must be added to node cl01-02.

C. The Target Alias must be modified to match the Target Name.

D. The iSCSI LIFs must be moved to a physical interface; iISCSI LIFs are not supported on top of an ifgrp.

Correct Answer: C

QUESTION 5

Inside of an SVM, an iSCSI IP address is defined on which object?
A. qtree

B. LUN

C.LIF

D. node part

Correct Answer: B
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